
MAKE: STYLE:

MIN.25

WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY

WEIGHT CARRYING:

   INSTALLATION TIPS:

   INSTALLATION REQUIRES:

   VEHICLE PHOTO:

REPRESENTATIVE PHOTO 

HITCH ILLUSTRATION:

   MAKE SURE YOUR HITCH MATCHES

   LEVEL OF DIFFICULTY: EASY

EASY MODERATE CHALLENGING

 1.  BEFORE YOU BEGIN INSTALLATION, READ ALL
 INSTRUCTIONS THOROUGHLY.

 2.  TO EASE INSTALLATION, 2 PEOPLE MAY BE
 REQUIRED.

 3.  USING PROPER TOOLS WILL GREATLY IMPROVE
 THE QUALITY OF THE INSTALL AND REDUCE THE
 TIME REQUIRED.

Safety glasses should be 
worn at all times while
installing this product.

YEARS: 2015-PRESENT FORD MODEL: F-150 TRUCK

10,000
1,000

TRAILER WEIGHT:
TONGUE WEIGHT:

14017 INSTALLATION INSTRUCTIONS

LBS.
LBS.

WEIGHT DISTRIBUTION: TRAILER WEIGHT:
TONGUE WEIGHT:

12,000
1,200

LBS.
LBS.

MIN.50

IF YOU  ARE  HESITANT  TO UNDERTAKE
THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED

CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

   NOVICE INSTALL TIME:
   PRO INSTALL TIME:

IF PRESENT TEMPORARILY
REMOVE GROUND CABLE

FISHWIRING REQUIRED

LOWER SPARE TIRE

NO DRILLING REQUIRED

PART REMOVAL

RATCHET
TORQUE

WRENCH SOCKET

15/16"
13mm
10mm

MASKING
TAPE

http://www.carid.com/curt/


INSTALLATION WALKTHROUGH:

Parts List

DESCRIPTIONPART NUMBERQTYITEM

.188 x 1.00 x 2.00" U-SHAPE SPACERCM-SP2721

.250 x 1.25 x 2.50" SQUARE HOLE SPACERCM-SP962

CARRIAGE BOLT5/8-11 x 1 3_4, GR843

HEX FLANGE NUT5/8-1144

5/8" FISHWIRE5_8 FISHWIRE45

M8-1.25 x 25 HEX FLANGE BOLTM8 - 1.25 x 25 HFB16

END OF FRAME

DRIVER SIDE
FRAME RAIL

GROUND CABLE
MOUNTING
LOCATION

EXISTING ACCESS HOLE (BOTH SIDES)
PASSENGER SIDE
FRAME RAIL

5
4

1

2

3

1. If present, remove the grounding cable from
the rear of the passenger side frame rail.
Return fastener to owner.  Lower spare tire
for installation.

6
2. For the rearward most holes, tape a U-shaped spacer

into the recess in the frame.  Thread the forward most
fishwires through another rectangular spacer on each
side and then thread all of the fishwires through their
appropriate mounting holes.

TAPE
TO

FRAME
(BOTH SIDES)



INSTALLATION WALKTHROUGH:

4. Raise hitch into position and pull the fishwires so the
bolts are in their final position.  Remove the fishwires
carefully and loosely install the supplied 5/8" hex
flange nuts.  Reinstall the grounding cable with the
supplied 8mm fastener, if removed in step 1.

5. Torque all 5/8" fasteners to 210 lb-ft.

     Raise spare tire back into position.

3. Fishwire (2) 5/8" carriage bolts and spacers
through either an access hole or the end of the
frame rail.  Leaving them in the frame with the
fishwires attached.  Repeat for other side.





GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH:                LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT.
 GROSS LOAD CAPACITY WHEN USED AS A WEIGHT DISTRIBUTION HITCH:              LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT

***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***

INSTALLATION STEPS

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND.

10,000 1,000
12,000 1,200

FORD F-15014017

50

47

25

HITCH WEIGHT:         LBS.

INSTALL TIME

  PROFESSIONAL:        MINUTES

  NOVICE (DIY):         MINUTES

INSTALL NOTES: 

Parts List
DESCRIPTIONPART NUMBERQTYITEM

.188 x 1.00 x 2.00" U-SHAPE SPACERCM-SP2721

.250 x 1.25 x 2.50" SQUARE HOLE SPACERCM-SP962
CARRIAGE BOLT5/8-11 x 1 3_4, GR843
HEX FLANGE NUT5/8-1144
5/8" FISHWIRE5_8 FISHWIRE45
M8-1.25 x 25 HEX FLANGE BOLTM8 - 1.25 x 25 HFB16

3

2

1

4

5

1. If present, remove the grounding cable from the rear of the passenger side frame rail.  Return fastener to
owner.  Lower spare tire for installation.

2. For the rearward most holes, tape a U-shaped spacer into the recess in the frame.  Thread the forward most
fishwires through another rectangular spacer on each side and then thread all of the fishwires through their
appropriate mounting holes, as shown above.

3. Fishwire (2) 5/8" carriage bolts and spacers through either an access hole or the end of the frame rail.  Leave
them in the frame with the fishwires attached.  Repeat for other side.

4. Raise hitch into position and pull the fishwires so the bolts are in their final position.  Remove the fishwires
carefully and loosely install the supplied 5/8" hex flange nuts.  Reinstall the grounding cable with the supplied
8mm fastener, if removed in step 1.

5. Torque all 5/8" fasteners to 210 lb-ft.  Raise spare tire back into position.

- NO DRILLING REQUIRED
- FISHWIRING REQUIRED
- IF PRESENT TEMPORARILY REMOVE

GROUND CABLE
- LOWER SPARE TIRE

DRIVER SIDE
FRAME RAIL

PASSENGER SIDE
FRAME RAIL

EXISTING ACCESS HOLE (BOTH SIDES)

GROUND CABLE
MOUNTING LOCATION

END OF FRAME

6

TOOLS REQUIRED
RATCHET

TORQUE WRENCH
15/16" SOCKET
13mm SOCKET
10mm SOCKET
MASKING TAPE

Learn more about trailer hitches and towing we have.

https://www.carid.com/trailer-hitches.html

	14017-INS (C)
	14017-INS (B&W)



